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Exam Notes:

1- Read each problem carefully before attempting to solve it.

2- Write all work on this exam paper.

3- Show complete solutions to get full marks.

Good Luck,



Q1 (5 Marks): Below you have 10 short questions. For each question indicate if it is True or False.
Fill out your answers in the Table.

=

Settling tanks are also called as sedimentation tanks.

Rapid sand filters require large area compared to slow sand filters.

The direction of water in filter beds is reversed for backwashing or cleaning.

Flocculent settling is the step involved in the settling process in solid thickening facilities.
Sieves and screens are examples of depth filters.

Baffle walls provided in sedimentation tanks to prevent short circuit.

Sedimentation is a process using gravity to remove suspended solids from water.

The accumulated layer at the bottom of the sedimentation tank is called sludge.
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Turbidity is the main factor usually used for the selection of the filtration method.
10. According to the gravity separation theory, non-spherical particles settle slower than spherical

particles.

Q2 (4 Marks): What power input in (kW) is required to achieve a mixing intensity (G) of 950 s*
in a mechanical rapid mixing tank with a mean hydraulic detention time of 50 s at a water flow of
6000 m3/day? Assume a water viscosity of 1.3 x 10 N.s/m?.



Q3 (6 Marks): The rate of reaction for an enzyme-catalyzed substrate in a batch reactor can be
described by the following relationship:

where k = maximum reaction rate (mg/L)

C = substrate concentration (mg/L)

K = constant (mg/L)
Using this rate expression, derive an equation that can be used to predict the reduction of substrate
concentration with time in a batch reactor. If k = 40 mg/L.min and K = 100 mg/L, determine the
time required to decrease the substrate concentration from 1000 to 100 mg/L.




Q4 (4 Marks): The contents of a tank are to be mixed with a turbine impeller that has six flat
blades (Np = 3.5). The diameter of the impeller is 3 m, and the impeller is installed 1.25 m above
the bottom of 6 m deep tank. If the temperature is 30 °C (p = 995.7 kg/m®and u = 0.798 x 1073
N.s/m?) and the impeller is rotated at 30 rev/min, calculate Reynolds number and the power
consumption in (kW)?




Q5 (6 Marks): Giving your background industrial wastewater treatment, you have been asked to
design a single rectangular sedimentation tank to treat an effluent wastewater flow of 70 L/s at a
design overflow rate of 40 m3m?.d and a temperature of 10 °C. Determine:

1)

2)

3)

The tank dimensions (width, length, and depth) for a detention time of 3 h and a length
to width ratio of 4 to 1.

The sedimentation tank behaves like an ideal plug flow reactor, will all particles with a
diameter > 50 pum and a density of 1250 kg/m® be completely removed by the ideal
sedimentation tank? (Assume Stock’s law applies, and for water at 10 °C, p = 1.306 x
10 N.s/m? and density = 1000 kg/m?3).

If the flow rate to the sedimentation tank is doubled, resulting in a higher overflow rate,
would the particle removal efficiency decrease, increase, or stay the same? Explain
briefly and qualitatively.
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Gravity Separation Theory
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Depth Filtration
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